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Multiple Choice (only one answer is correct)
	1. 
	One of the followings is an important motivator for project managers:
a.) bounded power
b.) monotony
c.) belongings
d.) mutuality

	2. 
	Participation in planning at all levels is necessary for…
a) emowerment
b) ISO
c) lean
d) lean-SixSigma

	3. 
	Which of the following is NOT part of the HIPI principle?
a) Heterogeneity          b) Intangibility              c) Performance                d) Inseparability

	4. 
	In PZ&B’s Service Quality Dimensions … is “the knowledge and courtesy of the employees and their ability to inspire trust and confidence”
a.) Assurance
b.) Empathy
c.) Tangibles
d.) Responsiveness

	5. 
	Which functional perspective of quality “identifies and measures costs of quality by conducting trade-off and break-even analysis”?
a.) Strategic Management

b.) Marketing
c.) Human Resources
d.) Financial

	6. 
	Which one of the followings is NOT true for the Baldrige Performance Excellence Program

	
	a.) it is American
	b.) focuses on business results
	c.) Adaptable
	d.) Prescriptive

	7. 
	The Deming Prize is?

a.) American.

b.) French.

c.) Japanese.

d.) British.

	8. 
	Which one of the following concepts states that “anything that does not add value for the customer should be eliminated”?
a.) ISO
b.) lean
c.)      The Deming Prize
d.) TQC

	9. 
	To which one of Shingo’s seven wastes the loss from ‘too high quality’ is connected?
a) Waste of overproduction     b) Waste of motion     c) Waste of processing itself     d) Waste of stocks

	10. 
	…’s focus is for companies to document their quality systems in a series of manuals.
a)  ISO              b)  TQM                        c)  lean                        d)  The Deming Prize

	11. 
	Who of the following theorists was famous about his “Zero defects approach”?
a.) Juran
b.) Deming
c.) Crosby
d.) Shingo


	12. 
	One of the following is NOT in the “The Juran Trilogy”
a.) planning 

b.) control
c.) acting 

d.) improvement

	13. 
	Which aspect(s) of time is/are used in quality improvement?
a.) The time it takes to achieve business goals as a result of quality.

b.) The speed at which companies improve
c.) both a) and b)
d.) none of the above

	14. 
	Costs of quality according to the PAF paradigm:
a)  Plan-Act-Fix       b) fix-variable          c) capacity-shortage            d)  Prevention-Appraisal-Failure

	15. 
	Who can be the internal customers?

a.) End users
b.) Fellow workers
c.) Buyers from the domestic markets
d.) Customer who are already entered the shop or facility

	16. 
	In the reactive customer-driven quality model as time passes the…
a.) satisfaction of the customers is increasing

b.) dissatisfaction of the customers is increasing

c.) quality costs are increasing

d.) quality costs are decreasing

	17. 
	One of the following is not a part of CRM (Customer Relationship Management):
a.) Complaint Resolution

b.) Feedback

c.) Guarantees

d.) Targeting

	18. 
	Which one is the last in the “seven new tools of improvement”?
a.) Tree diagram

b.) Affinity diagram

c.) Pareto analysis

d.) Activity network diagram

	19. 
	The … is used to make decisions based on multiple criteria.
a.) tree diagram
b.) The Prioritization Grid

c.) Interrelationship Digraph

d.) Gantt Chart

	20. 
	Which following statement is true (for statistical analysis)?
a.) Type I error = customer’s risk

b.) Type II error = customer’s risk

c.) Type I error = producer’s risk

d.) both b.) and c.) are true


Calculation
We have the following data about a manufacturing good:
	Sample
	x
	
	
	

	1
	32
	35
	29
	31
	34
	28
	    
	
	

	2
	33
	24
	27
	33
	32
	34
	
	
	

	3
	28
	33
	30
	27
	43
	33
	
	
	

	4
	12
	30
	26
	25
	34
	28
	
	
	

	5
	30
	25
	32
	30
	32
	29
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 and R charts, plot and interpret the process. 
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Answer Sheet

(Grade bands: <51% = 1, 51-64% = 2, 65-74% = 3, 75-84% = 4, 85-100% = 5)
Multiple Choice (maximum points: 20*4=80)
Points: …….. / 80
	1
	
	7
	
	13
	
	19
	

	2
	
	8
	
	14
	
	20
	

	3
	
	9
	
	15
	
	
	

	4
	
	10
	
	16
	
	
	

	5
	
	11
	
	17
	
	
	

	6
	
	12
	
	18
	
	
	


Calculation (maximum points: 20)
Points: …….. / 20
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Is the process in control?    yes   /   no    (2 pt)
[image: image11.png]n Ay D3 Dy A3 B3 By
2 1.88 0 3.27 2.66 0 3.27
3 1.02 0 2.57 1.95 0 2.57
4 0.73 0 2.28 1.63 0 2.27
5 0.58 0 2.11 1.43 0 2.09
6 0.48 0 2.00 1.29 0.03 1.97
7 0.42 0.08 1.92 1.18 0.12 1.88
8 0.37 0.14 1.86 1.10 0.19 1.81
9 0.34 0.18 1.82 1.03 0.24 1.76
10 0.31 0.22 1.78 0.98 0.28 172
11 0.29 0.26 1.74 0.93 0.32 1.68
12 0.27 0.28 1.72 0.89 0.35 1.65
13 0.25 0.31 1.69 0.85 0.38 1.62
14 0.24 0.33 1.67 0.82 0.41 1.59
15 0.22 0.35 1.65 0.79 0.43 1.57
16 0.21 0.36 1.64 0.76 0.45 1.55
17 0.20 0.38 1.62 0.74 0.47 153
18 0.19 0.39 1.61 0.72 0.48 1.52
19 0.19 0.40 1.60 0.70 0.50 1.50
20 0.18 0.41 1.59 0.68 0.51 1.49




 

Answer Sheet A
Multiple Choice (maximum points: 20)
Points: …….. / 20
	1
	B
	7
	c
	13
	c
	19
	b
	25
	

	2
	A
	8
	b
	14
	d
	20
	D
	26
	

	3
	C
	9
	c
	15
	b
	21
	
	27
	

	4
	a
	10
	a
	16
	b
	22
	
	28
	

	5
	d
	11
	C
	17
	d
	23
	
	29
	

	6
	d
	12
	c
	18
	D
	24
	
	30
	


